DHEEROBIERR 50cm (BfhI:p Sv./h)

No| BIER |#iX%£ M % T =T A =
1| 58128 BFILAE 0.08 - - 0.10
2 A |REEHLER(EERE) 0.06 - 0.07 0.07
3 5H138 ﬁ F&SIS 0.07 - 0.08 -

4 X |ERAREE 0.06 0.06 0.06 -

5 YU I7UEE 0.11 - 0.10 0.08
6| 5H188 | Aldk |EBRIEBAE 0.07 - 0.07 0.09
7 TERSHR & S A 0.05 0.05 - -

8 H o (FREABEOOR 0.08 - 0.08 0.08
9| 5H118 ﬂz I SEAYNE 0.06 - - 0.07
10 X |HFEHLE 0.07 0.09 0.08 0.09
11 [BIKENER 0.06 - - -

12 5148 | s ENREREEI— 0.06 0.07 0.07 0.07
13 W BE AR 0.06 0.05 0.07 0.07
14| 58188 | #4&E |MEREEI— 0.06 - 0.07 0.05
15| 58118 | 4L |t EHREZFFURE 0.06 - - 0.07
16| 5A78 | B |HEREXFR 0.09 - 0.10 0.12

BIES: 7OAWRENALUFL—2ar Y —_AAA—H(TCS—172)




